
1

A
3H

G
E

N
. 2

02
0

03
80

60
...

F
E

B
.2

02
4

MAX.
352lb

SERIES
MIDLAND SLIDER 03

80
60

88
4

Link Hardware I 8131 Keele St unit #4, Vaughan, ON L4K 1Z2, Canada
Phone: +1 905-761-5656
Email: info@linkhardware.ca

MAX.
160Kg

59
2 5/16"

85 3 
3/

8"

12,7
1/2"

26
1 1/16"

13 1/
2"

H

A

A= H - 54mm

A= H - 2 1/8"

d

2

a

2

c

1

b

10

d¹

d²

 MINIMUM PANEL WIDTH AND CLAMP POSITIONING1

Min.600
23 5/8"

HIGH-WIDE GLASS RATIO: 3-1

35
1 3/8"Min.

185
7 5/16"

59
2 5/16"

85 3 
3/

8"

12,7
1/2"

9
3/8"

12,7
1/2"

13 1/
2"

A= H - 54mm

A = H - 2 1/8"

F = H - 84mm

F = H - 3 5/16"

10 3/
8"

45
1 3/4"

2

1

5

2

3

4

6

(1) HEIGHT ADJUSTMENT SCREW
(2) ANTIJUMP SCREW
(3) CLAMP TIGHTEN SCREW: (x2) GLASS 3/8" -- (x6) GLASS 1/2" -- (x6) GLASS 9/16")
(4) CLAMP TIGHTEN SCREW: ONLY (x4) CENTRAL SCREWS FOR GLASS 3/8")
(5) GLASS THICKNESS SETTING SCREW
(6) HEIGHT ADJUSTMENT NUT

CLAMP SCREWS3

10
3/8"

3
1/8"

12,7
1/2"

6
1/4"

14
9/16"

7
5/16"

ADJUST PARALLELISM

ADJUST SCREWS4

 13Nm

TIGHTEN CLAMP SCREWS5 TIGHTEN GLASS THICKNESS SETTING SCREWS6

  9
0v

 X6

H

F

A

22,5
7/8"

185
7 5/16"

35
1 3/8"

(x6) (x6)
(x2)

(x4)

25
1"

25
1"

25
1"

20
13/16"

41 1 
5/

8"

41 1 
5/

8"

74 2 
7/

8"

12
1/2"12

1/2"

20
13/16"



TOP TRACK MOUNT7

100
3 15/16"

400
15 3/4"

400
15 3/4"

400
15 3/4"

90
°

 

CEILING MOUNT SCREW DIN 7505B O5-- 3/16"

WALL MOUNT SCREW DIN 7505A O5-- 3/16"

BRAKE STOP ASSEMBLY8

D1 D2
D1

TIGHTEN SCREWS9 LOWER GUIDE INSTALLATION10

21
13/16"

32,51 9/32"

DOOR INSTALLATION11 HEIGHT ADJUSTMENT12

D2

± 1/8''
3mm± 3mm

A Clockwise to Raise

Counterclockwise to LowerB

FIXING NUTC
± 1/8''
3mm± 3mm

ANTI-JUMP SCREW13 LOWER GUIDE INSTALLATION14

2

A
3H

ONLY GLASS + SLIM FRAME

PLASTICS Nº

 GLASS 3/8"  GLASS 1/2"
SLIM FRAME 3/8"

 GLASS 3/8"  GLASS 1/2"
+ +

NO NO YES YES

10 12 10 14

1/2"

 GLASS 9/16"

NO

14

SLIM FRAME 1/2"

5,
5

3/
16

"
O

10 3/
8"

O

5,5
3/16"O

10
3/8"

10
3/8"



INSERT COVER CLIPS15
Number of clips Track

7
5

3m-- 118 1/8"
2m-- 78 3/4"

FIXED PANEL CHANNEL AND END COVERS16

R

L

CEILING MOUNT WITH FIXED GLASS17

       
400

15 3/4"

100
3 15/16"

       
400

15 3/4"

       
400

15 3/4"

5,5
3/16"O

DIN 7505B O5 -- 3/16"

    O9
3/8"

LOWER FIXED GLASS PROFILE18

DIN 7505A O4,5--3/16"

LOWER GUIDE19

0

DOOR INSTALLATION20 FIXED GLASS MOUNT21

THICK 5mm-- 3/16"

Number of clips Track

7
5

3m-- 118 1/8"
2m-- 78 3/4"

END COVERS MOUNT22

3

A
3H

DON'T BEND CLIPS TO OPPOSITE DIRECTION

1
1/16"



4

A
3H

35
1 3/8"

185
7 5/16" K

35
1 3/8"

185
7 5/16"K

427
16 13/16"

Min.870
34 1/4"

= =

f

1

2 2

g¹ g² g³

4

l¹

l²

1

1

MINIMUM PANEL WIDTH AND CLAMP POSITIONING1 High-wide glass ratio: 3-1

ONLY GLASS 12,7--1/2"
                        14--9/16"

SOFTOP INSTALLATION2

LOOSEN THE SCREW

ONLY GLASS 12,7--1/2"
                        14--9/16"

10Nm8Nm

TIGHT THE CLAMP SCREWS4

 X2

 X2

90º

TIGHTEN GLASS THICKNESS SCREWS5

A B
LOAD THE SOFT CLOSE6

 X2

ADJUST GLASS THICKNESS SCREWS TO GAPS SHOWN3

10
3/8"

4
1/8"

7
1/4"

8
5/16"

12,7
1/2"

14
9/16"

G
E

N
. 2

02
0

03
80

60
...

F
E

B
.2

02
4

MAX.
310lb 03

80
60

88
4

Link Hardware I 8131 Keele St unit #4, Vaughan, ON L4K 1Z2, Canada
Phone: +1 905-761-5656
Email: info@linkhardware.ca

SOFTCLOSE
ASSEMBLYMAX.

140Kg

1

1

J

DIN 913 M5X6mm

⁴g



g¹

g²

g³ X ≤ 5/16"

5/16" < X < 7/16"

X ≥ 7/16"

7 INSERT NUTS AND SCREWS

X

X ≥ 10,5mm

8,5mm < X < 10,5mm

X ≤ 8,5mm

395
15 9/16" +K

395
15 9/16" +K

MOUNT SOFT CLOSE ACTIVATORS8

A
TIGHTEN THE SCREWS9

395
15 9/16" +K

395
15 9/16" +K

5

A
3H

 g¹ g²  g³   ⁴g

 Black Gray  White

J

 A

M
A

X
. 1

/8
"

 M
IN

. 1
/1

6"

g ¹
g ²

g ³

⁴g

90°
=90º

Make sure activators are completly turned at 90º

Left Right

Double-check the activators pin is enggaging with the SoftStop tigger, and
within the within a distance of 1/16"-1/8".

Left

Right

Respect positioning distance of 12 7/8 + k


